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1 g & Rf HOVA 4,648.000 =
2 g & W o—i 4,248.000 £
3 =4 Bk oyc 3,156.465 =
4 = B HEVLE 3,005.000 =%
5 g & (AR —E 2,902.000 £
6 L= FiE SAHVZ 2,828.027 E
7 = BEHEOM™N AEF 2,811.000 £
8 = fiE LOSR 2,788.972 £
9 g & IZE AAH 2,782.000 £
10 g & EHE o5 2,738.607 £
11 g & KA VOAE 2,597.000 £
12 L R My FE 2594734 E
13 g & fhf LALVS 2,532.366 =
14 g & IMNK =D ZE 2,462.000 £
15 o 2oLy & 2,377.000 £
16 =4 bR EfT 2,166.159 =
17 g & IAx ER 2,152.000 £
18 g & BH LALSEAS 2,107.000 £
19 g & FAZS BR 2,099.000 =%
20 L= R FEhHE 2,091.479 E
21 = ATE O 2,074.000 £
22 g & FW LIFS 2,072.000 £
23 g & LER L 1,963.000 =
24 g & BH &b 1,959.000 £
25 g & h# LEpE 1915909 =
26 g & KL OTE 1,853.000 £
27 = WE REB 1,816.000 =
28 = wmig Yps0L 1,806.000 £
29 g & M EZ 1,756.265 =
30 g & LEhtE —k 1,697.400 =
31 % & o= FfE 1,670.000 =
32 % & xH ET 1,568.840 =
33 % & E£&Il ELVA 1,536.000 £
34 % = 8l LAWLS 1,427.723 &
35 % = fEiE 1EEA 1,404.400 =
36 % & g OAHD 1,241.000 =
37 % & F 7 N el 0 X5 1,100.253 =
38 % & A F— 769.000 =
39 % & E <IZoc 668.392 =
40 % = & Lpsl\vs 409.000 =

= R B 85,793.991 =&
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